Subject: Re: 100 user units to correspond to exactly 2 cm on the hard copy
Posted by davidf on Thu, 03 Sep 1998 07:00:00 GMT

View Forum Message <> Reply to Message

Kristian Kjaer (kristian.kjaer@risoe.dk) writes:

> On a hard-copy (postscript) plot, how does one get the plot window (the
> area inside the box, where the data points roam) to be, say, precisely
> 10 by 12 cm?

Set_Plot, 'PS’
Device, XSize=10/0.8, YSize=12/0.8, XOffset=4.0, YOffset=6
Plot, Findgen(101), Position=[0.1, 0.1, 0.9, 0.9]

Cheers,

David Fanning, Ph.D.

Fanning Software Consulting

E-Mail: davidf@dfanning.com

Phone: 970-221-0438, Toll-Free Book Orders: 1-888-461-0155
Coyote's Guide to IDL Programming: http://www.dfanning.com/
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